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WRITTEN TEST FOR JE (PW) LEVEL-6 ON COMPASSIONATE GROUND
IN ENGINEERING DEPARTMENT

Question paper comprises two parts. Part-1 Objective Questions 40 number each of 01 mark
( Total 40 marks ) and Part-II Subjective(Technical) questions 06 number each of 10 marks
( Total 60 marks) .

2. All Questions are compulsory.
3. All the unused pages of answer book at the end of examination should be crossed.
4. Mobiles / Pager /calculator etc. are not allowed in the examination hall, otherwise candidate will
3 be debarred from the examination.
(\-( L
5. Candidate should use only blue or black pen for writing the exam.
6. Answers should be written in any one language either in Hindi or English.
7. In case of any ambiguity, English version of question paper should be taken as Authentic.
8. In the answers to objective type questions, no corrections of any type are permitted.
9. Except answers nothing should be written in answer sheet.
Part-1 :- Objective Type ( Total Question 40 nos. )
(Each question carries 01 mark)
4! The First Train in India ran on? FTeT # qgeT CNTET el Al
« ANS | A)16.4.1853 B) 16.04.1955 C) 16.04.1963 D) None of the above
Q.2 The Price of 5.5 dozen pens is Rs 1287. What is the price of 16 such pens?
ANS | A)212 B) 296 Cr312 D) 412
Q3 How many basic wind speed zones are present in India?
I WI7A § e gieamar =7 & gy & gar & afa &0 g 82
ANS | [a] 4 /=TX [b] 5 /7t
[c] 6/E" [d] 7 /AT
Q.4 | What is the full form of MRVC — TH 3T &1.41. T T wIW FAT AT §
ANS | [a] Metro Railway Vikas Copportion/ B2l ¥ora fasma g
[b] Mumbai Railway Vikas Corporation/ §a5 ¥4 fa@me fAvm
[¢] Mahanagar Railway Vikas Corporation / TgTAT ¥ed fosTH A
[d] Maharashtra Rail Vikas Corportion/ AgT¥Tg ¥ fa=1 f7H
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What s full form of RLDA — ST Tel.E1.T. 3T quf &9 T T

ANS | [a] Rail Land Development Authority/ e g fare srfereT
[b] Rural Land Development Authority /ITHIIT q fBreprer wTfereRTor
[c] Rail Line Development Authority/ Xe ATEe faramme e
[d] None of these/ = ® ¥ FTS ARl
Q.6 New Pension scheme implemented from----
| = Tor T Fd A AL A MK.cecen
ANS | [a] January 2004 / St 2004 [b] January 2005 | STa<r 2005
[c] January 2006 /SFaLt 2006 [d] January 2007 / sTerEdr 2007
Q.7 Who is the present Chairman/CEO of Railway Board?
Yory A7E 3 AT sere/ s B 82
ANS | [a] Vinay Kumar Tripathi/ ey AT AT

[b] Smt. Jaya Varma Sinha/ sfreret ST Fut AT

‘\
l
[d] AshwaniLahani/srs =T CIEGI
Where is Rail Coach Factory located? X I ¥t el foura &7
[a] Patiala/TfeaTeT [b] Perambur/ILET

[c] A K Mittal/ T ¥ Tt
X
FNS
| MMJ‘_[C] Chittaranjan/fais@__ [d] Kapurthala/F <1
|
Q9 \ Who invented Computer? FeIET T et forae
ANS )
[a] Charles Babbage/ e darst  [b] William Henry ) Frferam &0
. [c] Ada Lovelace / 7aT tard___[d] Jack maa/ & HT
L
10 ;
1% | Brain of computer is? FE AT 4 f3H¥ T T g
ANS p iy ;
[a] CPU/F T T [b] Monitor/@ifa= [c] Hard Disk gT€fe® [d] UPS/A 6
Q.11 | 1024 Kilobytes is equal to- 1024 T3t aTSe e aXTa% &
ANS | [a]1 Giga byte/1 frarée [b] 1 Tera byte/1 X1 aT2
F [c] | Megabyte /1 AT arse  [d] 1 Peta byte/ 1 92T 9152
| Q.12 | India lies in which continent? HTTd fre TETrRT W ST 8

UE (SR

e A g i g

(ANS | [a) Asia/ FOrT [b] Europe/ T4, [c] A frical SORTRT [d] North America/STT STATTHRT
Q.13 | What city is the statue of liberty in? FIE e § T A foradf Raa g
ANS | [a] South America rfror STt [b] Antarctica/ TR (et

[c] Australia/strEsferT

[d] New York/ ?giﬁ‘ﬁ%
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\7Q~T4 Smallest state of India is? ¥T<T FT g8 Brel Tl FAATS
ANS | [a] GOA/Fra  [b] Manipur /g
L/ (c] Sikkim / farf3g [d] Mizoram/ s

Q15| The 2024 Olympic wil o held in ? 2024 i FEt S e SO
ir@i\JS a)Moscow, Russia b) London, UK, c)Paris, France d) None of these

Who has chaired the 13 BRICS Summit? 13% Forerer frErT wAE
TANS | a) Shri Xi Jinping b) Shri Narendra Modi

| | ¢) Shri Viadimir Putin d)Shri Cyril Ramaphosa

7_(“)'17 Who is the Chief Justice of India ? T ¥ e AT I 57

a) Justice Rammana b)Justice Agrawal ¢)Justice Chandrachud _d) Justice Natrajan

Father of Green revolution in_India s 9 ST AT B i ¥ ST 57
a) M.S. Swaminathan b) V.L. Chopda c) Verghese Kurein d) None of these

Q.19 | On which day, * Engineers day' is celebrated? iR e B e HATIT ST 2

_ | On which day, * Engineers €8y 8 = —=———-—

1\/\N@ B __ql)‘z*s_gp_tgmber ) 15 September eyl _S_egtember d) 29 September

N S

Whose birthday is celebrated as a Engineer’s day in India?
AT ﬁ%qwm%fésﬂﬁﬂﬁ-m%ﬁwﬁmmm%? ‘
ANS | a) Dr. Radha Krishanan b) Dr. Homi Bhaba ¢) M Visesvaraya d) None of these

Find the wrong number in the series 1,1 2.6,24,96,720
sraer 1,1 2,6,24,96,720 3 T T TTA AL

[ANS_| B96 )24 d) 6
|

Q.22 | Insert the missing number 7, 26, 63, 124, 215, 342, oiianse

\» - e 7, 26, 63, 124, 215,342, (oo y e
L Ans a) 391 b4zl c)481 )51l

| Q.ﬂi/l%w ??Bgsglzgt‘—ébntainglﬁd— blue. 2 red, 4 green and 3 yellow balls. If 04 balls are picked up
random, what is the probability that 2 red and 2 are green?

Q%f]ﬂ?ﬁﬁmﬁ?ﬁ,zmAg&aﬁwﬁﬁ%%l UY%OLXﬁn’@Pv;ﬁ"@T%GH%GrRﬁ

\r" %,ﬁw@m%%zwaﬁrziﬂ%‘?
Ans (@415 ) 5727 d) 2/455

Fish : Scales, Bear ? : Tl

W a) Feathers b) Leaves

=

o Fur____d)Skin



Q.25 | Ganeshan walked 8 kms West and turned right and walked 3 Kms. Then he again turned
right and walked 12 kms. How far is he from starting point ?
aroverT 8 Freft T 4t st 5@ e ant gEa 3 et s e e R AT wET ST 12
BreirfteT s g i g & gt R 87
Ans a) 7 kms b) 6 kms : c) 4 kms d) 5 kms
Q26 | Find the odd activity out 2 e TRITTEr T wa w2
Ans |a)Talking b) Walking c)Eating _ d) Running
Q.27 |BDAC : FHEG::NPMO: ?
Ans | a) RTQS b) NTRC ¢) TRQS d) RTQS
Q.28 | Misthe sonof P. Qis the Grandfather of O, who is the husband of P. How M is related
toO?
M, P T T &1 Q, O T aTaT &, S P & Iid 2 M, O & g e "efed 22
Ans a) Son b) Mother c¢) Daughter d) Father
"Q,29 Pride is the Lion as Shoal is to ? e 9% & SaT & aer €2
Ans a) Fish b) Teacher ¢) Student  d) Crocodile
Q.30 | Ifdog is called “cat”, cat is called “Lion”, Lion is called “Rat”, then which of these lives in
Forest? .
af 52 it "R Fwr Srar g, faet 1 " T SITAT &, A Y SR T ST g, A
TR & A S AT 82
Ans | a) LION b)CAT ¢) RAT d) DOG B
‘(‘)j’l M:10 grade concrete approximates to? TH:10 I Fhie 6 T
Ans a) 1:2:4 b) 1:3:6 cJ 11153 d) 1:6: 12
Q.32 | Which are the following are constitutes of Brass?
Frerer 3 e ge #7482
Ans | a) Iron and Zinc _b) Zinc and Copper ¢) Copper and Nickel d) Iron and Copper
Q33 | The lime contents in Portland cement is ? T1&ds #He & I &Y HTAT BT &2
ANS | a) 60% to 70% b) 40%to 50 ¢) 30% to 40% d) Less than 30%
Q.34 | Spacing of a main bars in a Slab shall not exceed?
I il i ¥ e TR T oA ThY SATAH Tl g ARY?
| ANS | a) 3 times in overall depth b) 3 times the effective depth
| _1.©) 50 times of diameter of bars d)25CM |

¥ N



A beam which has one end fixed and end free is called ?

agaﬁwﬁwqmﬁmﬁmamwﬁﬂaﬁ@mam?ﬁ%?

‘FAJVS a) Fixed beam b) Cantilever beam ¢) Continuous beam d) None of these
L

@.35
|

Q.36 | ‘Meri Maati Mera Desh’ campaign aims to create a garden in which city?

B wTET A A arf%m#waw%vse@ﬁ@wwm%?
ANS | a) New Delhi b)Mumbai ¢) Gandhi Nagar d) Ladkha
@.37 | Postal Life Insurance (PLI) is associated with which Union Ministry?
| = Sfraw A (frerrs) (o A JAr & "9 77

| Ans "ér)i‘M’ihihsﬂ:waingnce b) Ministry of Communications  ¢) Ministry of Information and
Broad casting d) Ministry Women and Child Development

&

Which country is set to launch ‘BRICS Startup Forum’ in 20237
I AT I 2023%'%W€{€WW'WW%%QW%?

a) Russia b) Brazil ¢) India d) China

ISP SN —

Q.39 | Which company is set to launch the world’s first BS-VI (Stage-11), electrified flex-fuel
vehicle in India?
ey &t ey st g S wEeT BS-VI (E-1D), frerdiga worFa-Se AT Al

Fo ¥ forg R 82
ANS | ) TATA Motors_b) Toyota ¢) Kid motors d) Hyundai

Q.40 | Operation Muskaan’, which was seen in the news, was implemented in which city?

\ 'a?ﬁmgmaﬂaﬁwraﬁﬁ%@mm%&mgﬁm%nmm?
@NS | a) Indore b) Mumbai ¢) Guwabhati d) Ahmedabad

IR
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Part-11 ¢ Technical Subjects ( All questions are compulsory. )
( 10 marks for each Question )

I

Difference between deep and shallow foundation ?

et s gerelt At F o qA -

SR B E s i s B

B e R
Explain difference between compaction and consolidation ?

o e e

Draw shear force diagram and bending moment diagram for the above beam?

xture ? Describe any “4” types of admixtures used in concrete? ‘

Wﬁa@@%ﬁﬁﬁ?ﬁg@%ﬁww%%mmmﬁ?

T

What are concrete admi

What are dams and explain any 3 types of dams?

‘aﬁawiaﬁtﬂa%ﬁwﬁsw%m‘(ﬁm
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